https://lwww.leads4pass.com/2v0-642.html

L Qads 4 PQSS 2024 Latest leads4pass 2V0-642 PDF and VCE dumps Download

2V 0-64204A3

VMware Certified Professional 6 - Network Virtualization 6.2 Exam

Pass VMware 2V0-642 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/2v0-642.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 2V0-642 Dumps | 2V0-642 PDF Dumps | 2V0-642 Braindumps 1/3


https://www.leads4pass.com/2v0-642.html
https://www.leads4pass.com/2v0-642.html
https://www.leads4pass.com/2v0-642.html

https://lwww.leads4pass.com/2v0-642.html

Lead S4Pass o4 iaes leads4pass 2V0-642 PDF and VCE dumps Download

QUESTION 1

When designing a multi-site NSX deployment, which capability requires Enhanced Linked Mode to function?
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A. Creating Universal Transport Zones

B. Creating Universal Logical Switches

C. Cross-vCenter vMotion

D. Registering a Secondary NSX Manager

Correct Answer: C

QUESTION 2

When creating a new security policy how is the default weight determined?
A. The default weight is equal to the highest defined weight minus 1000.
B. The default weight is equal to the highest defined weight plus 1000.

C. The default weight is equal to the highest defined weight.

D. The default weight is incremented by 100, starting at 0.

Correct Answer: B
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QUESTION 3

Which two options are correct regarding vSphere Distributed Switches? (Choose two.)
A. A single vDS can span multiple vCenter Servers.

B. A single host can be attached to multiple vDS.

C. A single vDS can span multiple hosts across multiple clusters.

D. A vDS is automatically created when a new 802.1Q trunk is configured.

Correct Answer: BC

QUESTION 4

An administrator has been asked to provide single failure redundancy. What is the minimum supported number of NSX
Controllers needed to meet this requirements?

A.2
B.3
C.1
D.5

Correct Answer: B

QUESTION 5

Which three changes to a distributed switch configuration could trigger a rollback? (Choose three.)

A. Blocking all ports in the distributed port group containing the management VMkernel network adapter.
B. Configure the virtual machine system traffic to enable bandwidth allocation using Network I/O Control.
C. Adding a new host with a previous vDS configuration.

D. Changing the MTU.

E. Changing the VLAN settings in the distributed port group of the management VMkernel adapter.

Correct Answer: ADE
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